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Choose the correct alternative :

‘It is the most fertile region.’
(1) No other region is as fertile as it.

(2) It is more fertile than any other region.

(A) Only 1 is correct (B) Only 2 is correct

(C) Both -1 and 2 are correct (D) Both are incorrect

Choose the ‘Grammatically Wrong’ sentence :

(A) He is employed with a factory. (B) Kashmir is celebrated for its scenery.
(C) I am convinced of my error. - (D) His betrayal was fatal to our 'plans.
Choose the word Opposite in meaning to the given word :

‘Banish’

(A) Abandon (B) Harbour (C) Intrude - (D) Drop
Choose the one which best expresses the given sentence in ‘Passive Voice’ :
‘Where will you purchase the dictionary ?’

(A) Where will you be purchased by you ?

(B) Where will the dictionary be purchased by you ?

(C) Where will be purchased the dictionary by you ? |

(D) Where will the dictionary be purchésed by you ?

Choose the one which best expresses the given sentence in ‘Indirect Speech’ :
He said to me, “May you live long !”

(A) He prayed that might I live long.

(B) He prayed that I might live long !

(C) He prayed that I might live long.

(D) He prayed that I may live long.

Name the figure of speech in the following line :

‘We read Shakespeare.’

(A) Synecdoche (B) Simile
(C) Metaphor (D) Metonymy
[S-3/6-C]

https://www.freshersnow.com/previous-year-question-papers/



Read the followmg extract and answer the questions by selecting the most appropriate answer :

[Q. Nos. 32 to 36]

320

33.

34.

3s.

36.

Break, break, break,

On thy cold gray stones, O Sea !

And I would that my tongue could utter
The thoughts that arise in me.

O, well for the fisherman’s boy,

That he shouts with his sister at play !
O, well for the sailor lad,

That he sings in his boat on the bay !
And the stately ships go on

To their haven under the hill;

But O for the touch of a vanished hand,
And the sound of a voice that is still !
Break, break, break, '

At the foot of thy crags, O Sea !

But the tender grace of a day that is dead
Will never come back to me.

The phrase ‘my tongue could utter’ means :

(A) tongue was paralysed (B) he could not express his grief
(C) if he could express his grief (D) none of the above

The poet has depicted a picture of permanent objects in contrast with :
(A) fleeting objects (B) temporary nature |
(C) divinity | (D) temporariness of life

The images that are more abiding than the life of man are :

(A) fisherman’s boy’s singing (B) the boy at play

(C) the coming of grand ships (D) all of the above

The poet yearns for the company of someone who :

(A) was close to him - (B) could help him

(C) has departed - (D) both (A) and (C)

The waves of the sea ére constantly :

(A) in pain . (B) rising

(C) striking against cold gray stones (D) flowing
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37.

38.

39.

Choose the one which expresses the meaning of the given idiom :

‘To strike one’s colours.’ |

(A) To fight vigorously (B) To work hard

(C) To surrender (D) To make a rude gesture
Choose the one which best expresses the meaning of the given word :
‘Gripe’

(A) Complaint (B) Journey (C) Resentment (D) Satisfaction

Choose the most suitable alternative :

Sudhir’s behaviour is worthy of ..................

............... by all youngsters.
(A) trial (B) emulation (C) exploration (D) following

In the following passage, there are blanks, each of them has been numbered. The appropriate
alternative has been mentioned against the number given below @ [Q. No. 40 to 44]

The appointed day has come, and India stands 40 again, after long 41 and struggle, awake,

vital, free and independent. The past 42 on to us still in some 43 and we have to do much
before we 44 our pledges.

40.
41.
42.
43.
44.
45.

46.

47.

(A) here (B) free (C) forth (D) forward
(A) period (B) slumber (C) compulsion (D) exile
(A) sticks (B) faces (C) extends (D) clings
(A) measure (B) quantity (C) limits (D) ways
(A) take (B). redeem (C) rectify (D) comply

Choose the correct ‘Preposition” :

The- report did not find favour .............. the shareholders.
(A) of (B) with (C) by _ (D) to
Choose the appropriate alternative ! '
.. number of important points were raised in the course of ............. discussion.
(A) A, the (B) The, the (C) The, a (D) A, no article

Find out which part has an error :
Two-thirds of the book / were / rubbish / No error.
1 2 3 4

a1 (B) 2 (€) 3 (D) 4
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48.

49.

50.

52.

53.

54.

5S.

Choose the correctly spelt word :

(A) Farenheit (B) Faranhiet

(C) Farenhiet (D) Fahrenheit

Choose the most suitable ‘One-word’ for the given expression :
‘Clumsy or ill-bred fellow.’

(A) Boor (B) Oaf «(C) Lout (D) Yokel

Choose the appropriate alternative :

After I ............... the news, I hurried to see her.
(A) heard (B) hear
(C) had heard (D) have heard
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